&EHo-2

FHTHE-REOEDRAH
MOBmREDH
O<BERE> BECELERVREFR+HHBERT)
H25 () H27 H28 H29 H30 H31
REY = sa(a) |AHESTREH| | e=—X&E | |G REH| | «=—XE | [aHEREY| | e=—XE | [2#FHRERH| | «=—XE | [aHEGREY| | e=—X&E #l&(B] Z1&5[A-B]
-~ - oN) (N) N ON) N (N) N (N) N (N)
A4TA VEYER = 38 = 38 = 38 = 38 = 38
Z:‘;;g INSILXINILL . 48 230 15.5% 1,469| - 052 1,466| - e 1,465| - 2% 1,466| - e 1,467| - 8 eoon ~44.5%
BATE 15—k x/3—F = 0 = 0 = 0 = 0 = 0
881 879 879 879 880
H1-2RREDOH 60.0% 60.0% 60.0% 60.0% 60.0%
O<BERE> BECELERVREFR+HHBERT)
H25 () H27 H28 H29 H30 H31
REY = sa(a) |AHETREH| | e=—X&E | |G REH| | «=—XE | [aHFREY| | e=—XE | [2#FHREH| | «=—XE | [aHEGREY| | e=—X&E gl&(B] Z1&5[A-B]
-~ - N ON) N (N) N ON) N (N) N (N)
A4TA VEYE = 84 = 85 = 85 = 85 = 85
Z:‘;;E INSILXINILL . 301 920 30.5% 2967 - L 3027 Ll 3027 Ll 3022 L3 3,023/ L33 49 ~19.1%
BATE 15—k x/3—F = 0 = 0 = 0 = 0 = 0
1,472 1,502 1,502 1,499 1,500
H3E~BRENREDH 49.6% 49.6% 49.6% 49.6% 49.6%
O<1ERBE> BECELERUHHE)
H25 () H27 H28 H29 H30 H31
REY = sa(a) |AHETREH| | e=—XE | |G REH| | «=—XE | [aHFREY| | e=—XE | [2#FHREH| | «=—XE | [aHEGREY| | e=—X&E #l&(B] Z1&5[A-B]
-~ - N (N) N ON) N ON) N (N) N (N)
BATC IINEA L x 1IS—hEA L = 835 = 849 = 871 = 883 = 894
nggfﬁ%f’iﬁf) 4,230 2,682 63.4% 3998 - = 4,064 - 27 4171 28 4228/ Lo 4,280| - L0244 18.6%
BAOF BEXEZ = 0 = 0 = 0 = 0 = 0
1,792 1,821 1,869 1,895 1,918
44.8% 44.8% 44.8% 44.8% 44.8%
Q<L25RBE> HH¥E)
H25 (Ef8) H27 H28 H29 H30 H31
1B % FIFEY sa(a) |AHETREH| | e=—X&E | |a#fEREH| | «=—XE | [aHFREY| | o=—XE | [2#FHREH| | «=—XE | [aHEGREY| | e=—X&E #l&(B] #l&[A-B]
-~ - N (N) (N) (N) (N) (N) N ON) N ON)
’5’4;A VEYHR = 24 = 24 = 25 = 25 = 25
B JILBALXITILEA L - 273 = 278 = 285 = 289 = 292 . .
Z:frjc 7)Lgﬁ’£xﬂo_wfz 3,998 _ - 4,064| -8 4171 50 4,228 T 4,280 5 9.3% -9.3%
BAATE 13—k x/15—F = 0 = 0 = 0 = 0 = 0
374 380 390 395 400
9.3% 9.3% 9.3% 9.3% 9.3%
BL2E5RE> BECELERVREN)
H25 (@) H27 H28 H29 H30 H31
— — sa(a) |AHETREH| | e=—XE | |afEGREH| | «=—XE | [aHFREY| | o=—XE | [2H#FHRERH| | «=—XE | [aHEHREY| | e=—X&E =S G) gl&[A-B]
-~ - N ON) N ON) N ON) (N) (N) ON) (N)
A4TA VEYE = 111 = 113 = 116 = 117 = 119
Z:‘;;E FASILXINELL ] 4250 1,278 30.2% 3998 - L2 4,064 - 128 4171 L3 4228 1350 4,280| - LB a2 ~12.0%
BAATE 18—k x/8—F = 0 = 0 = 0 = 0 = 0
1,687 1,715 1,760 1,784 1,806
42.2% 42.2% 42.2% 42.2% 42.2%
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